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Section A: Multiple Choice

Answer all questions in this section using the separate answer sheet provided.

You are advised to spend no more than 20 minutes on this section of the paper.

Questions 1, 2 and 3 refer to the following passage:

Researchers have found that the average employee does just four hours of productive work a day.
The remaining time is spent fielding unnecessary phone calls and emails, or surfing the Internet and
gossiping. The study also showed that the most irritating interruptions come from internal emails. To
increase productivity, companies should ban emails between employees working in the same room.

1

3

What is the name given to the following argument element in the above passage?
“The study also showed that the most irritating interruptions come from internal emails.”
(a) Evidence

(b) Example

(c) Explanation

(d) Intermediate conclusion

1]
Which of the following is an underlying assumption of the above argument?
(a) A significant fraction of time wasted is from fielding internal emails.
(b) Employees work less productively than they used to.
(c) Itis necessary for employees to contact each other if in different rooms.
(d) The figure of four hours of productive work a day is representative of most employees. ”
1

Which of the following, if true, would most weaken the above argument?
(a) Employees enjoy spending time surfing the Internet and gossiping.
(b) Internet access is crucial to the work of the majority of companies.

(c) Many employees working in the same office use email to send important data to one
another.

(d) The majority of employees get frustrated by wasteful emails and would support the banning
of them.

[1]
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Questions 4 and 5 refer to the following passage:

Car drivers with a bad cold or a case of flu can be significantly affected in their ability to drive safely.
Research has shown that on average people with bad colds scored 11% worse on hazard-spotting
tests and had 8% longer reaction-times than healthy people. This is equivalent to the reduction caused
by drinking a double whisky. We accept the law restricting driving under the influence of alcohol so
should accept a similar one restricting driving under the effects of a cold.
4 What is the name given to the following argument element in the above passage?

“We accept the law restricting driving under the influence of alcohol.”

(a) Explanation

(b) Intermediate conclusion

(¢) Main conclusion

(d) Reason

1]

5  Which of the following, if true, would most weaken the above argument?

(a) People with bad colds are less likely to be driving.

(b) Some of the symptoms of a bad cold can be relieved with medicine.

(c) The body is affected in different ways by alcohol and by a bad cold.

(d) The group that performed worse in the tests performed just as badly when they recovered
from their colds.

]
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Questions 6, 7 and 8 refer to the following passage:

It is clear that Government plans to tackle obesity have not been effective. A university public health
expert says Government ministers must take bold action in the fight against obesity. “The threat to
Britain and to her National Health Service is very serious,” he explained in an interview. “Successive
governments have all produced action plans against the problem, but it has been on the increase since
the 1970s in Britain.” It is predicted that by 2025 the number of people with type Il diabetes, most often
caused by obesity, will be twice what it is now.
6  Which one of the following appeals is used in the above argument?

(a) Appeal to authority

(b) Appeal to emotion

(c) Appeal to history

(d) Appeal to popularity

1]

7 What is the name given to the following argument element in the above passage?

“It is predicted that by 2025 the number of people with type Il diabetes, most often caused by
obesity, will be twice what it is now.”

(a) Counter-assertion
(b) Hypothetical reason
(c) Intermediate conclusion
(d) Reason
1]
8 Which?of the following is a further conclusion that can best be drawn from the statement
below?

“It is clear that Government plans to tackle obesity have not been effective.”

(a) It would be wise for the National Health Service to start increasing its provision to support
type Il diabetes sufferers.

(b) The Government should put resources and planning into an improved anti-obesity strategy.
(c) The maximum levels of salt, sugar and fat within foods should be systematically reduced.

(d) Government health policies rarely succeed.

[1]
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Questions 9, 10 and 11 refer to the following passage:

Young drivers in London hold 8% of driving licences yet they are involved in 18% of collisions. They
need to be better educated about noticing hazards, the dangers of driving quickly, and in general
taking road safety more seriously. The Government should ensure that more resources are put into the
education to increase the quality of driving.
9  Which of the following is an underlying assumption of the above argument?

(a) Most young drivers in London still attend school.

(b) The collisions are the fault of young drivers.

(c) The vast majority of young drivers involved in collisions do not hold driving licences.

(d) Young drivers spend more time driving their cars than some of the other age groups in
London.
1]
10 Which of the following, if true, would most strengthen the above argument?
(a) Other road safety schemes have proved effective at changing the behaviour of young people.

(b) The number of teenagers owning cars is increasing in London.

(c) The majority of people do not feel the driving licence is an adequate proof of safe driving
ability.

(d) The roads are becoming more congested in London.
1]
11 Which of the following is the best statement of a weakness in the above argument?
(@) 18% is a small percentage of collisions.
(b) Road safety figures could vary across the country.
(c) Spending money on education will not guarantee better drivers in all cases.

(d) We cannot judge the number of drivers from the number of driving licences.

]
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Questions 12 and 13 refer to the following passage:

Since 2001, the number of hedgehogs found dead on the roads has declined by more than 7.5% per
year. In the late 1990s, conservationists started to build eco-tunnels underneath new major roads to
allow animals to cross safely. All new major roads should have eco-tunnels as they have clearly been
successful in reducing hedgehog deaths on roads.
12 Which of the following is the main conclusion of the above argument?

(a) All new major roads should have eco-tunnels.

(b) Eco-tunnels have clearly been successful in reducing hedgehog deaths on roads.

(c) Eco-tunnels underneath new major roads allow animals to cross safely.

(d) The number of hedgehogs found dead on the roads has declined by more than 7.5% per
year.

1]
13 The above argument contains a flaw in the reasoning. The flaw would be best described as:
(@) Confusing necessary and sufficient conditions
(b) Hasty generalisation
(c) Post hoc

(d) Slippery slope
1]

© OCR 2010
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Questions 14 and 15 refer to the following passage:

The overwhelming majority of youths convicted for carrying a knife in public are not sent to prison. In
the last year only 1 in 17 teenagers convicted for carrying a knife ended up in jail. This undermines
public confidence in the justice system. A Conservative Party spokesman commented that a tough
deterrent is needed and that the courts should use the powers they have been given. The courts must
increase the percentage of cases which result in prison sentences.

14

15

What is the name given to the following argument element in the above passage?

“The overwhelming majority of youths convicted for carrying a knife in public are not sent to
prison.”

(@) Counter-assertion
(b) Intermediate conclusion
(c) Main conclusion
(d) Reason
1]
Which of the following is the best statement of a weakness in the above argument?
(a) It does not consider that trends in knife-carrying might change.
(b) The argument confuses the seriousness of carrying a knife with using a knife.
(c) There might be better ways to restore public confidence.

(d) The spokesman’s view may not be representative of the Conservative Party.

]

Section A Total [15]
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Section B — Analysing and Evaluating Argument

Answer all questions.
Read the passages in the Resource Booklet.
You should use the exact words of the author in your answers to 16 (a), (b) and (c).

16 (a) State the main conclusion of the argument within paragraphs 1 to 5.

.............................................................................................................................................. [3]
(b) State one principle given by the author within paragraphs 1 to 5.

.............................................................................................................................................. [2]
(c) State the counter-argument within paragraphs 1 to 5.

RS ON .

L0701 (o] [ 1] o] o IR UPOUPTRR

.............................................................................................................................................. [4]

17 In paragraph 2 the author uses evidence to support the claim that zoos are dangerous places for
baby animals. Explain one weakness in the way the author has used evidence to support this
claim.

© OCR 2010
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18 In paragraph 2, it says that zoos “are dangerous places for baby animals.” State what we have to
assume for this to support the claim that “zookeepers must work harder to care for them.”

19 The reasoning in paragraph 3 uses an appeal. Name the appeal and explain why the use of this
appeal may not give strong support to the argument in paragraph 3.

20 In paragraph 3, it states that “At least this zoo is now starting to re-think its policies because it has
received some highly negative publicity”

Is this an argument or an explanation? Justify your answer with reference to the text.

©OCR 2010 Turn over
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21 Evaluate adam22’s reasoning in “Have your say”. In your answer you should consider some
of the following: flaws, appeals, use of examples, hypothetical reasoning, assumptions or other

evaluative points.

You should make at least three points.

Section B Total [30]
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Section C — Developing your own arguments

Answer all questions.

22 There is a long standing debate about whether we should carry out scientific research on animals
or not.

(@) Give two reasons which support the claim that we should carry out scientific research on

animals.
) I R =TT T e PP PRSP
...................................................................................................................................... [2]
L) I R =T TS o 1= PP UR PP
...................................................................................................................................... [2]
(b) Give one reason that supports the claim that we should not carry out scientific research on
animals.
REaS 0N 1
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23 “We should do everything in our power to prevent the extinction of any species of animal.”
Write your own argument to support this claim.
Marks will be given for a well-structured and developed argument. You should include at least
three reasons, a well-supported intermediate conclusion and a main conclusion. Your argument

may also contain other argument elements.

You may use information and ideas from the passage, but you must use them to form a new
argument. No credit will be given for repeating the arguments in the passage.

© OCR 2010
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24 “The existence of zoos is a good thing.”
Write your own argument to challenge this claim.
Marks will be given for a well-structured and developed argument. You should include at least
three reasons, a well-supported intermediate conclusion and a main conclusion. Your argument

may also contain other argument elements.

You may use information and ideas from the passage, but you must use them to form a new
argument. No credit will be given for repeating the arguments in the passage.

Section C Total [30]

Paper Total [75]
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Additional Page

If you use this lined page to complete an answer to any question, the question number must be clearly
shown.
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Additional Page

If you use this lined page to complete an answer to any question, the question number must be clearly
shown.
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Additional Page

If you use this lined page to complete an answer to any question, the question number must be clearly
shown.

OCR¥

RECOGNISING ACHIEVEMENT

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders
whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright
Acknowledgements Booklet. This is produced for each series of examinations, is given to all schools that receive assessment material and is freely available to download from our public
website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible
opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a
department of the University of Cambridge.

© OCR 2010




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.245 841.846]
>> setpagedevice


